Bid #733-11177 - NetMotion Software and Licenses

Start Date Feb 5, 2013 12:34:24 PM EST Awarded Date Not Yet Awarded

733-1117701-01 090NMXE					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
AT&T	First Offer - \$10,500.00	1 / each	\$10,500.00		Υ
Product Code:		Supplier Product	t Code:		
Agency Notes:		Supplier Notes:			
Insight Public Sector, Inc. [Ad]	First Offer - \$13,410.00	1 / each	\$13,410.00		Υ
Product Code:		Supplier Product	t Code:		
Agency Notes:		Supplier Notes:			
NetMotion Wireless	First Offer - \$15,000.00	1 / each	\$15,000.00		Υ
Product Code:		Supplier Product	t Code:		
Agency Notes:		Supplier Notes:			

733-1117701-02 090NMXEC2					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
AT&T	First Offer - \$91.00	365 / each	\$33,215.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Insight Public Sector, Inc. [Ad]	First Offer - \$116.25	365 / each	\$42,431.25		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
NetMotion Wireless	First Offer - \$130.00	365 / each	\$47,450.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		

733-1117701-03 090NMXES						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
AT&T_	First Offer -	\$3,500.00	1 / each	\$3,500.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
Insight Public Sector, Inc. [Ad]	First Offer -	\$4,472.50	1 / each	\$4,472.50		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
NetMotion Wireless	First Offer -	\$5,000.00	1 / each	\$5,000.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:	,	

733-1117701-04 090NMBXE						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
AT&T	First Offer -	\$5,600.00	1 / each	\$5,600.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
Insight Public Sector, Inc. [Ad]	First Offer -	\$7,155.00	1 / each	\$7,155.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
NetMotion Wireless	First Offer -	\$8,000.00	1 / each	\$8,000.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		

733-1117701-05					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
AT&T	First Offer - \$52.50	365 / each	\$19,162.50		Υ

Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
Insight Public Sector, Inc. [Ad]	First Offer - \$67.10	365 / each	\$24,491.50	Y
Product Code:		Supplier Product	Code:	
Agency Notes:		Supplier Notes:		
NetMotion Wireless	First Offer - \$75.00	365 / each	\$27,375.00	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	

733-1117701-06 090NMRXE						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
AT&T	First Offer -	\$1,050.00	1 / each	\$1,050.00		Υ
Product Code:			Supplier Product	Code:		
Agency Notes:			Supplier Notes:			
Insight Public Sector, Inc. [Ad]	First Offer -	\$1,340.00	1 / each	\$1,340.00		Υ
Product Code:			Supplier Product	Code:		
Agency Notes:			Supplier Notes:			
NetMotion Wireless	First Offer -	\$1,500.00	1 / each	\$1,500.00		Υ
Product Code:			Supplier Product	Code:		
Agency Notes:			Supplier Notes:			

733-1117701-07 090NMRXEC					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
AT&T	First Offer - \$10.50	365 / each	\$3,832.50		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Insight Public Sector, Inc. [Ad]	First Offer - \$13.40	365 / each	\$4,891.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
NetMotion Wireless	First Offer - \$15.00	365 / each	\$5,475.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

733-1117701-08 090NMXES						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
AT&T	First Offer -	\$3,500.00	1 / each	\$3,500.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
Insight Public Sector, Inc. [Ad]	First Offer -	\$4,472.50	1 / each	\$4,472.50		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
NetMotion Wireless	First Offer -	\$5,000.00	1 / each	\$5,000.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		

733-1117701-09 090NMBXE						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
AT&T	First Offer -	\$5,600.00	1 / each	\$5,600.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
Insight Public Sector, Inc. [Ad]	First Offer -	\$7,155.00	1 / each	\$7,155.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
NetMotion Wireless	First Offer -	\$8,000.00	1 / each	\$8,000.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		

p. 2

733-1117701-10 090NMBXEC1					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
AT&T	First Offer - \$56.00	76 / each	\$4,256.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Insight Public Sector, Inc. [Ad]	First Offer - \$71.55	76 / each	\$5,437.80		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
NetMotion Wireless	First Offer - \$80.00	76 / each	\$6,080.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

733-1117701-11 090NMRXE						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
AT&T	First Offer -	\$1,050.00	1 / each	\$1,050.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
Insight Public Sector, Inc. [Ad]	First Offer -	\$1,340.00	1 / each	\$1,340.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
NetMotion Wireless	First Offer -	\$1,500.00	1 / each	\$1,500.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		

733-1117701-12 090NMRXEC					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
AT&T_	First Offer - \$10.50	76 / each	\$798.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Insight Public Sector, Inc. [Ad]	First Offer - \$13.40	76 / each	\$1,018.40		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
NetMotion Wireless	First Offer - \$15.00	76 / each	\$1,140.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

733-1117701-13 090NMPRMMNT1					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
AT&T	First Offer - \$3,755.75	1 / each	\$3,755.75		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Insight Public Sector, Inc. [Ad]	First Offer - \$30,285.00	1 / each	\$30,285.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: This is a bundled maintenance as there is Maintenance for the PD Setup \$2599! and pricing for the City/Public Works setup \$429 Pricing works out the same, but Part Number 090NMPRMMNT1 will be ordered twice at time of (once for each setup)			95.00 90.00	
NetMotion Wireless	First Offer - \$31,975.00	1 / each	\$31,975.00		Υ
Product Code: Agency Notes:		Supplier Produc Supplier Notes:	t Code:		

Supplier Totals

AT&T	\$95,819.75 (13/13 items)	
Bid Contact Elena Hedges	Address 5201 Congress Ave	

	<u>eh495m@att.com</u> Ph 561-789-3105 Boca Raton, FL 33487				
Agency Note	es:	Supplier N	otes:		
Insight Public Sector, Inc. [Ad]			\$147,899.95 (13		
Bid Contact	Pam Potter brian.mayer@insight.com Ph 800-321-2437 Fax 863-678-3204		6820 S. Harl Ave. Tempe, AZ 85283		
Supplier Cod	e 00016479				
Agency Notes:		Supplier I	Supplier Notes:		
NetMotion	<u>Wireless</u>		\$163,495.00	(13/13 items)	
Jid comact	Joe Sullivan joe.sullivan@netmotionwireless.com Ph 770-363-7299	, taa. 333	704 N 34th Street Ste 250 Seattle, WA 98103		
Agency Note	es:	Supplier l	Notes:		

* *

p. 4